
COMPETENCY BASED TEST  ( DECEMBER) 

ANSWER KEY 

ENGLISH 

1. Where do frogs live? 

a.  Water        b    Land   c Both land and water    d Under the soil. 

ANSWER         C      Both land and water 

2. How many species of frogs are there? 

 a. more than three thousand 

 b .more than four thousand 

 c .more than five thousand 

 d. more than six thousand 

Answer        c .more than five thousand 

 

3. Which legs of the frog are bigger? 

a) Front legs       b)  Hind legs       c)    Both or equal 

d)None of the above 

 Answer    b)  Hind legs     

    

4. When does the frog go inside the ground? 

a)   When it is hot      b) When it is cold        c) When it rains 

d) It never goes inside the ground 

Answer   a)   When it is hot       

5. Are frogs aquatic or amphibians? 

a)   Aquatic      b) Amphibians    c) Both of the above 

d) None of the above 

Answer  b) Amphibians     

 TEXT BASED QUESTION 

6 Where do we post our letters? 

a) In the Bank        b) In the dustbin       c)In the Mailbox 

d) In the Mail van            Answer   c)In the Mailbox 



7 ___________ old are  you ? 

a)When        b)Why      c)How      d)Where 

Answer      c)How       

 

8  The verb for the noun  Singer  is 

a) Paints       b)Sings       c)Dances        d) Writes 

 Answer       b)Sings   

      

9 The opposite of  Early  is  _____________ 

   a)Late       b)Quick         c)Never              d)Always 

Answer      a)Late        

 

10. Give me some________ to eat. 

a)where      b)thing           c)think         d)when 

 

Answer b) thing            

 

Hindi 

दऺता आधारित पिीऺा [ददसम्बि-2023] 

कऺा - तीसिी   

विषय - दहन्दी  

निम्ननिखित गद्यांश को ध्ययि पूर्वक पढ़कर प्रश्ो ां के उत्तर निखिए | 

गर्मी का र्मौसर्म था | एक तालाब र्में पानी कर्म हो रहा था | तालाब र्में बहुत -सी र्मछललयााँ थी ीं तालाब के 

लकनारे एक बगुला रहता था | वह साधु का रूप बनाए बैठा  था | र्मन ही र्मन वह तालाब की र्मछललयोीं 

को खाने का उपाय सोच रहा था | 

प्रश् 1 तालाब के अींदर कौन रहता था ? 

  अ    बगुला 

  ब    र्मगरर्मच्छ 

  स    र्मछललयााँ 



उत्तर – स  र्मछललयााँ 

प्रश् 2 बगुले ने लकसका रूप  बनाया था ? 

अ साधु का 

ब फ़कीर का 

 स  बाबा का 

उत्तर –  अ  साधु का  

प्रश् 3 तालाब के लकनारे कौन रहता था ? 

अ र्मछललयााँ 

ब कछुवा 

स बगुला 

उत्तर – स  बगुला 

 

प्रश् 4 कौन सा र्मौसर्म था ? 

अ ठीं ड का र्मौसर्म 

ब गर्मी का र्मौसर्म 

स वर्ाा का र्मौसर्म 

उत्तर - ब  गर्मी का र्मौसर्म 

प्रश् 5 बगुला क्या सोच रहा था ? 

अ र्मछललयोीं को खाने का उपाय 

ब कछुवे को खाने का उपाय 

स र्मेंढक को खाने का उपाय 

उत्तर - अ र्मछललयोीं को खाने का उपाय 

पाठ्यक्रर्म आधाररत प्रश्न  

                                                                                                                        प्रश् 

6 उत्तर प्रदेश के गेंवली गााँव र्में कौन सा आश्रर्म था ? 



अ शाींलतकुीं ज हररद्वार आश्रर्म 

ब गोपाल आश्रर्म 

स रार्मकृष्ण लर्मशन आश्रर्म 

उत्तर - ब गोपाल आश्रर्म 

प्रश् 7 "सर्दी " का तुकात्मक शब्द होगा | 

अ ठीं ड 

ब गर्मी 

स वदी 

उत्तर - स वदी 

प्रश् 8 "रोटी " का बहुवचन होगा | 

अ रोलियााँ 

ब रोींिीयााँ 

स रोलिया 

उत्तर - अ रोलियााँ 

प्रश् 9 लनम्नललखखत शब्दोीं र्में से योजक शब्द चुलनए | 

अ गााँव 

ब र्माता – लपता 

स दोस्त 

उत्तर - ब र्माता – लपता 

प्रश् 10 लनम्नललखखत शब्दोीं र्में से सही शब्द चुलनए | 

अ लपींजड़ा 

ब पी ींजड़ा 

स लपनजड़ 

उत्तर - अ लपींजड़ा 



MATHS 

COMPETENCY  BASED TEST (DECEMBER) MATHS ANSWER KEY 
 

1.  Repeated addition is called ----------------------- 
a.   Division 
b.   Multiplication 
c.   Addition 
d.   Double addition 

Correct answer- b. Multiplication 
 
2.   5+5+5+5+5+5+5 =7 x ----------- 

a. 5                  b. 6                                   c. 7                            d. 35 
 
Correct answer-  a.    5 
3. Number of legs for 2 goats are ------------------------ 

 
a.  4 
b.  8 
c. 10 
d. 12 

 
Correct answer-  b. 8 
4.  1 balloon cost is 10 Rs.  what will be  the cost of bunch of balloons ?* 

 
a. 25 Rs 
b. 50 Rs 
c. 30 Rs 
d. All of the above 
 
Correct answer-  b. 50 Rs 

5. 100 x10 = ------------------ 
 



a. 1000 
b. 10 
c. 100 
d. 10000 
 
Correct answer- a. 1000 

6. Even number + Even number =  ------------------------ 
a. Odd number 
b. Even number 
c. Prime number 
d. All of the above 
 
Correct answer-  b. Even number 

7.  Extend the patterns  . 
250, 200,150,100,---------------, 

a. 75 
b. 80 
c. 25 
d. 50 
 
Correct answer- d. 50 

8.What comes next  ? 

5A , 10B ,15C ,--------------, 25E , --------------- 

 
a. 20C , 30G 
b. 20D, 30F 
c. 25C, 30F 
d. 25D, 30G 
 
Correct answer-  b. 20D, 30F 

9. 2 Times 8 is --------------------------- 
a. 8+8 
b. 2X8 
c. 16 
d. All of  the above 
 
Correct answer-  d. All of the above 
 

10.   4 X -------------------------- = 36 

a. 5 
b. 6 
c. 7 
d. 9 
 
Correct answer-  d. 9 

 



 

 

 


